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1. STSM objectives

Review of key constraints

The aim of this STSM is to identify and search for solutions to the main
constraints to obtain and share raptor samples and related contextual data about
the individual and/or population from which samples are obtained.



2. Searching for constraints

8

“x
NS
AKX v Sampling framework
* v’ List of contextual data

IDENTIFICATION OF CONSTRAINTS v Short-survey to experts

v' Bibliographic review

LA
x X
AN

LIST OF CONSTRAINTS

v v\

Legal  Methodological  Spatial coverage  Skills




2. Searching for constraints
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3. Assessing constraints
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3. Assessing constraints: Preliminary results

The top 5 constraints

Difficulty in collecting complex contextual data : Sources of contamination
Number of monitoring schemes to provide access to raptor samples and data
Number of institutions that participate in the monitoring scheme

Lack of skills to practice necropsies
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Adequate short-term storage of the samples

40 answers



4. Searching for solutions
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